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4.1 
����� �
���� 

 � ���	o
 ���
��o� ���� o������� 
�v ��v �����v������v� 

����o��v����� �������
�� �o� ��o
o����v�� �v��
�o��� �������
�� 

�o� ������������ 
� ���o�o �����  ���o �������
 ����v�
. To 

���!�����  ����o �o� ���
��o�o��� o ���	o
 ���
��o� ���� 
�v 

	���o��!o�v ���
� , ��o
o�o����� ���  �o� ���
��o�o������ 
��v 

������� ����v�. "�� ��v ���!���o�o��
� �v 
 ���o�o� ���	o� 

������ov��� ���o��v� ��
 ����o��v�����
 ����!��#�
 �$v 

�������
��v,  �$
 ��� 
�o�
 ���	o�
 ����. �#'  
ov o� ���	o� 

���
��o� ���� ������o�v ����!�
��
 ���
�
 �� �v��
������
, �o 

����o��v����  ���
�  ��v ���
���#�� 
��v ������ �o� ����
��
� 

��� 
�v���
 � �������
�� ��v ��v�� ���	o
 �� �� ����o��v����� 

�vvo��. �  �o
 "���	o
" ��	�
 ��o��	�v�� ��� �	��� 
�v�
��
� 

���
 
����
 ��  ���v��%�	 ��v�
 ����!�
��
. &��v ������$
� 

���	o� ���� o  �o
 "�� �o
�" (�) ���
��o�o������ �� �� 

����o��v����� �o� 
���
��, ��	��� o 	 !o
 �o� ����! ��vo� ��!o� 

��o
 �o �o
  ��
 ���� ����
 �o� ��������� ���� �ov ���	o. 

�v������, 
�o�
 ���	o�
 ���
��o� ���� �o ��!�� ��v ����		�	� 


��!�� ����� ��� ����$
� �o
  ���� ���o
 ��
$ ������v 

�v�����
�$v. 'o ����! ��vo ��!o 
� �v� ���	o ���� ���
��o� 

��o��� v� �������� ��� o o��
� 
 ��
 �� �o
�
 ��o��� v� ��o�o��� 

�� �ov ���o �� �o �#'  
ov ��o� 
o��� ��� ���� !�� ��v �o
 ���� 

���� ���o
 �o� ��	����� ���� ��v ���
�. (�� ���	o!� ��v�� v� 

���	��o��� ��v ���$���� ����o! vo ��v��� �o� ���
��o�. (�� �		� 

���	o!� ��v�� � �����
��� �v��!��� ���
�
 (Ferguson, 1986):  

 

  �o� qnet : �������� ����o! vo
 ��v��� �o� ���
��o� 

             'o : ����o���
�� �v�#o��
 (298 �) 

 out
oc net

( m s - m s)

 =  +         (4.1)q T
m f
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 4.2 

              m = mair + mfuel 

              )&(m*s) = ����%o	� �v��o���
 
�
�����o
 

* ������� ���	o!� ��
 %o��� v� 
�!���vo��� ���#o������
 ����v�
 

diesel �� %�v��vo����v�
 ��� ���#o������ ���� ���
��o� � 

���#o�����o�
 �� �o�
 ���
��o�o��
�
 ��
 �v��!���
 �$v ���
��$v. 

(�� �		� ��#��
� ��
 �����
���
 �v��!���
 ���
�
 ��v��  ��v ���� 

���o������� ��  
�v����
 ���
�
 ��$�o� ��!���o
 $
 ao = ac,�=0.01  

��
� �
�� v� 
�v��������� � 
����	o���v� �v��!��� 	 !$ ���
�
 

�	o�
�o� ��!���o
. �v !�v�� ��o�o��� v� ���
��o�o��
o��� ��v 

��#��
� (Ferguson, 1986):   

 

� ��v �
o��v���  

 

O ��v���
 4.1 ��v�� ��
 ���#o��
 ���� ����
 ��� �v��!���
 ���
�
 

!�� ��� 
���� ��  
�!��ov� ���
���.  

  

4.2 ��	����������� ��������� 

�� ����o��v�����
 ��� ����
 �o� ��!���o
 ���
��o� ���� 

������v��� ��  �� �� 	o��� ���������
����: 
�v��
� ��!���o
, 

	 !o
 ���
��o� ����, ��������� ���� �������v, ��������� ���� 
� 

�� 	o��o ����o. )��#o�o� o��
�o� ��������$v �o� ���
��o�o�o�v��� 


�o�
 ��o	o!�
�o�
 ���	$v ���
��o� ���� ��vov��� �������$: 

   F : 	 !o
 ���
��o� ���o� ����  

   FS : 
�o����o������ 
 	 !o
 ���
��o� ���� 

   � = F/FS : 
����� 
 	 !o
 ���
��o� ���� � 	 !o
 �
o��v����
 

   f: �	�
�� ��o	o��$v ����$v, �o�  �$
 ��o�v�#������ o������� 

       $
 o 	 !o
 ��
 ����
 �$v ��o	o��$v ����$v ���� �o ��	o
 

       �o� �� vo� ���!$!�
, ��o
 ��v ���� �o� ���� 
�v �o�      

      ���
��o� 
�v �$v ��o	o��$v ����$v ���� �o ��	o
 �o� 

       �� vo� ��
�!$!�
. 

   hv : 	 !o
 ����
 ������o� ��o
 ���� ���o� ���� 

 
�

�
cf *m

W
 =  

 

 (4.2)        
f)-(1F*

)F*+W(1
 = 

*m

W
 = 

os

s

of ��
�

�

�
 

 



 

 

 
 4.3 

 

+�o��� 	o�� v ��
 
��
��
 !�� ��v ���� m ��� �� moles N :  

 

 

    �o� a : ����
             r : �� 	o��o 

        f : fuel              v : ������o� 

���
�
 ��o��� ��
 
��
��
 (4.3) : 

 

 

 

 

4.3 
����� ��� ������� �������� ��
����� 

 ,��v �� ���
��� ���
��o�o�o�v��� 
� ��!�� �� �ov ���� 

��o�o�v  v� ���	������
o�v ���� ���� (� �v��!���) ���� ��v 

������ �v�����
� ��
 ���
�
. * �v��!��� ���� ��$������ 
�v��$
 

 �� �v���� 
�o ���
��o  ��� ��#������� 
�v ������ �v��	��� � 

�v��!���, o������� �� 
�v ��v �v��	��� ��
 o�
��
 
� ����o���
�� 

�v�#o��
 (� �		��
 ���� ��
-�v��!���-�v��	��� �v�����
�
  �$
 

��v ��o��� !v$��
�� 
�o ��o�!o���vo ��#�	��o 2). &�v��$
 $
 

����o���
�� �v�#o��
 	��%�v���� � To=298�. &��
 �������
��
 

�v�����
 ���
��o� ���� ��� 
�����
�
-��� v$
�
 � �		$v 

 f r vm =  +  +  + m m m m�  
 

 
f r v

f r

m m m m
N = + + +

29 18M M
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v

1- fm
 = 

m 1+ F + (1- f)Y

�
 

 

 
f

v

F(1- f)m
 = 

m 1+ F + (1- f)Y
 

 

 
r

v

f(1+ F)m
 = 

m 1+ F + (1- f)Y
 

 

 
v

v

h(1- f)m
 = 

m 1+ F + (1- f)Y
 

 



 

 

 
 4.4 

����o��v�����v ����!�
��v �����o	�v�� � ��o#�!� �v��������
�
 

��
 ������
 �v�����
�
 ����
 ���' ����
 ��� ��	�
 %�
�� ��
�� 


��
 ����o��v�����
 ��� ����
 ��
 
�v��
�
 �o� ���
��o� ���- ��� 

���� �� ���
�. +�
� ��
�!o��� ��
 ��
����
 ��� ����
 sensible 

energy/enthalpy (�.�. ��
���� �v��	���) !�� v� ��
 ���$��
o��� 

��  ��
 ��� ����
 �o� ��o�v ��o	o!�
��� �� ����o���
�� �v�#o��
 

�o� 	��%�v�� ��' o.�v ��
 ��
 ������
 �v�����
��
. * ��
���� 

�v��	��� ��v��  

     

 �o� s: sensible,  c: chemical,  h: 
�vo	��� �v��	��� ��!���o
. 

 ������ � 
�!��v��$
� �o� ���
��o� ��v�� ����  �o
o
�  �o� 

��!���o
, �o ���
��o 
�v��
#���� 	�!o 
�ov ��o	o!�
�  ��
 

������
 ���� ����
 �o� ��!���o
. * 
���v��� ���� o�
�� ��v�� �o 

��$�o ��� 
�o ��!�� ���
��o� ���� ��� 
�� ���/ v�� ��
 ���
�
 

��  �� o�o�� ��o��	����� �o �	�
�� �o� ��o	o��o� ����o� (f). * 

������ ���� ��
 	o�� v ��v�� �
��v�
 
�v����
� �o� f ��� �o� �. 

&��v o�
�� � ��
���� �v��	��� hs �o� ��!���o
 ��������� � vo ��  

��v ����o���
�� ��� ��o��� v� ��o	o!�
��� ��  �v�v ��v��� 

���o���$v �o� ���� (��v���
 4.2), o o�o�o
 ��v�� � ������ 

������$
� �=f=0. ���� � ��o
�!!�
� �� ����������
�� ��v 

����o���
�� 
�o ��	o
 ���
 ����!�
��
 (�.�. 
�����
�
) ���� 

�����o� 50�. 0�o ����%��
 ��o	o!�
�o� ��o�o�- v� !�vo�v ��
$ 

���
�
 �	����ov���v ��o	o!�
��v ��� 	���o���o�
 �#���o!�
 �$v 

����v ��
 ����o��v�����
 ��
 ���
�
,  �$
 
�����
��� 
�o 

��o�!o���vo ��#�	��o. +�o��� ��o!�������, #�	��� ��o
 �ov 

���
��, ��v�� ���� �����
��� 
� ��o�������  ������o ��
$ �$v 

����v�v ��� 
�$v, (�� Ferguson, 1986), ��� 
�v�
��v��� 

�v���#�	���� !�� 
�!��ovo�
 ��o	o!�
�o�
,  �� � vo (.�.�. �		� 

��� ���
 
����
 �		$v ��o%	����$v 
��v ����o��v�����. &�o ��� v 

��#�	��o  �$
 ��v���� � ���o�o	o!�� ��o	o!�
�o� ��
$ 

���!������$v ��� ��v���v 
�v ��� �vv�	������ ���o�o
. 

 * ������ �v��	��� hc ��v�� �v�������� ��
 ����o���
��
 (�#' 

 
ov o������� $
 � �v��	��� 
�o�
 298 �) ��� ��������� ��  �ov 


�����  	 !o ���� ���
��o� (�) ��� ��v 
�v��
� � �	�
�� 

 

T

ps

298

(T) = h(T) - h(298) = * dT 4.4h c         ( )�  

 



 

 

 
 4.5 

��o	o��o� (f). * ������ �v��	��� �v 
 ��!���o
 1 o�
��v ��v���� 

��  ��v  

 

 �o� ho
f,i,298 ��v�� � �v��	��� 
������
�o� ��
 ���� o�
��
 i. 

� ��v���
 4.3 ����� ��
 �v��	���
 
������
�o� !�� �� 


���v��� ���� 
�
������ 
��v �v�	�
� ����!�
��v (.�.�. ������ 

hf,N2=hf,O2=0, o ����
 ��v 
�v��
#���� 
��v ������ �v��	��� �o� 

��!���o
 ���
��o�-����-��o	o��o� (fuel-air-residual), 

�v�#�� ��vo� $
 "far" 
�� �������$, � hc ��������� ��  �o 

���
��o ��� ��  ����! ��v�
 o�
��
 ��
 ���
�
,  �$
 �o H2O ��� 

CO2 
�o �� 	o��o. (� ���o��vo 	o�� v �o f, �o hc !�� �v� ��!�� 

far ��o��� v� ��������� ��  ��v 
��
�: 

 

 �o� hc,fa : � ������ �v��	��� � vo �o� ��!����
 ���
��o�-����  

     hc,r : � ������ �v��	��� �o� ��o	o��o� ���
����$- 

������ �� �o �	�
�� ����
 �o� ��o	o��o� ��v�� 
��� v �
o �� �o 

�	�
�� moles �o� ��o	o��o�, ��� ��	� ��o
�!!�
���� 
��
� !�� �o 

�o����  %��o
 �v 
 ��!���o
 far ��v�� : 

 

 �o� (fa : �o����  %��o
 ��� ��!����
 ���
��o�-���� 

     Mr  : �o����  %��o
 ��� ��o	o��o� ���
����$- 

��� o ��v���
 4.4 ��v�� ��
 ������
 �v��	���
 ��� �� �o����� 

%��� !�� ��!���� far �
oo���v�o� C8H18. 

 �� 
��
��
 4.4, 4.6 ��� 4.7 ��v�� ��	�
 ��������
 ��#��
��
 

!�v�� ���$v 
��
�$v �o� 	��%�vo�v ��'  .�v �o�
 ��
 !�v���
 

���
�
��
 4.3. 

 H ��
���� �v��	��� �o� 
�vo	��o� ��!���o
 �v !�v�� ��v���� 

��  ��v ���
$
�  

 
N

o
ic f,i,298

1

(298) = 4.5h x h*         ( )�  

 

 c c, fa c,r = (1- f) + f         (4.6)h h h�  
 

 fa rM  (1- f)  + f         (4.7)M M��  
 



 

 

 
 4.6 

 

��� ��  �ov ���o ���o �v ��
o��� hc  �o� hs �� 	�%o��� ��v ������ 

�v��	��� �o� ��!���o
. 0��o�o�$
, �o �o����  %��o
 �o� ��!���o
 

������� ��  ��v ��#��
�  

 

&��#$v�  �$
 �� ��
 
�����
��
 �$v ��o�!o���v$v ����!��#$v o� 

!�v�� ����
 ����
 
��
��
 ��	o�
���ov��� 
��
 
��
��
 4.4, 4.6 

��� 4.7. +��� ���
�
 �������, ��  �o�
 Edson ��� Taylor, 

(Taylor, 1968), o�� ����%o	�
 
�o�
 ������o�
 � 
�o �� 	o��o 

���
����o (f) ��o��	o�v �����
 ����%o	�
 
��v ��o	o!�� ��v� 

�� �o
� �$v ���	$v ���
��o� ���� ��� 
�v���
 !�� ����o��v����o�
 


�o�o�
 o ������ 
 (��� ��vo
 
�v��$
 
� ����o
����� �v�	o!��, 

����%�		 ��v� �� ��v ����o���
�� ��� �ov %���  �o��
�o�) ��o��� 

v� �v������
����� 
�o�
 ��o	o!�
�o�
 �� �
� ���� ��o	o��$v 

����$-. ,��v ������� ������ 
 �v�� !�� f ��o�o��� v� 

���
��o�o�o��� �o f',  �o� 

 

���
�
 
��v !�v��� ������$
�  �o� ��o��� �v� o�o�o���o�� 

���
��o, � ������ ��� ��
���� �v��	��� �o� ��!���o
 ���
��o� 

���� ���� ��v ���� (��  ����v��� ����#o�� ���� ����
 ��� ��!o�), 

��-���� ��  ��
 �������$ 
��
��
 ��� �v�#������ 
��v 
�vo	��� 

���� (Taylor, 1968): 

 

 
*vsa sf v sr

s

v

( + F + )(1- f)+ f (1+ F)h h h hY
=    (4.4 )h

1+ F + (1- f)Y

� � �
 

 

 
*v

v

f r

m 1+ F + (1- f)Y
M = =      (4.7 )

1 F f(1+ F)YN
( + + )(1- f)+
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vr v

vf r v

+ f(1+ F)+ (1- f)m m Y
f = =       (4.8)

+ + + 1+ F + (1- f)m m m m Y�

�  

 

 
s,a s, f

s, fa

( + F )h h
 =         (4.9a)h

1+ F

�
 

 



 

 

 
 4.7 

 

 (0�o
o��: o ��v���
 4.4 ����� ��v ������ �v��	��� hc,fa �o�  

��!���o
 f-a ��o��� ��o
 ���
� !�� C8H18(g)). 

 &�ov ��o	o!�
�  ���	$v ���
��o�-���� !�vov��� ����	�ov o� 

�� 	o���
 ��o��
��
: ���� ��v ���
� �o 	���o��!o�v ����o ��v�� 


� ������ �
o��o���,  	�
 o� �������
��
 ��v�� ����%�����
, o� 

��������
 �o�
 ��� o� ���	���
 ���
�
 
�o ��	��o ��� 
��v 

��
�!$!� � 
��- ���!$!� ��v�� ���	����
 ��� �� ��%�	� ��-�� 

���-���. 

 

 

4.4 ��	����
���� ��� ��O�O
����� ���	
����� ������ 

 

 (����� �������!���� ��o	o!�
�o� �$v ������o�
 ����!�
��v 

����-��� �������$. 

 

���������� 1. 

 ������ ��v �v��	
�� (cal/g) ��
 �ov �
�
�� ���o (cm3/g) 

�v�� ������o� ������o� (C7H17)-����-�
o	o�
o� (far) �� �=500�, 

P=10 bar, �=1.0, ��
 �� f=0.10.  

��!�� ��
�� $
 ��o	o��$
: 

 * ������ �v��	��� �o� ��!���o
 far ��v���� ��  ��v 4.6:  

     hc,far =(1-0.10)(hc,fa)+ f(hc,r) 

��� �� hc,fa ��� hc,r, ��	��� ��v ������ �v��	��� ���
��o� ���� 

(fa) ��� ��o	o��o� (r), ��
 ����vo��� ��  �ov ��v��� 4.4. 2��: 

     hc,far=(1-0.10)(-29.25)+0.10(-695)=-95.80 cal/g. 

��  �ov ��v��� 4.2 ��o��� v� 	�#��� � ��
���� �v��	��� �o� 

��!���o
 far !�� �ov ���� ��� 
��#$v� �� ��v ��o�!o���v� �v�	�
� 

��v��  

     hs,far=204.89 J/g = 48.97 cal/g. 

&�v���
 � �v��	��� ��v��  

     hfar(500)=hs,far+hc,far= -46.83 cal/g. 

 � ����� 
  !�o
 ��o	o!������ ��  �ov v �o �$v ����$v 

PV=(Rn/M)T. To �o����  %��o
 ��v���� ��  ��v 4.7 ��� �ov ��v��� 

 
c,a c, f

c, fa

( + F )h h
 =         (4.9b)h

1+ F

�
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4.4 $
 M=(1-0.10)*30.26 + 0.10*(28.60) = 39.09 g/mole. 2�� �� 

��v�� : 

 

 

���������� 2. 

 ����� far ���
�� �� �=300�, P=1 bar, ���

�����
 


�o�v��o

�� �� 	��o ����v V1/V2=0.125. ������ ��v ��	
�� 

����o������ ��
 �o ���o �v �=0.8 ��
 �� f=0.05. 

 "�� ��
 ���o��v�
 
�v����
, ��  ��v��� 4.2 ��o��� Vr1=0.9916 

��� %�%���  �$
 !v$���o��� ��  ��v ����o��v����� !�� ��
 

�
o�v��o����
 �������
��
 ��vo��� ���
� ��� �$v ��������$- 


������
 ���
�
 Pr ��� 
�����o�  !�o� Vr, �o� !�� �
o�v��o����
 

����!�
��
 o���ov��� $
: Vr2/Vr1 = V2/V1 ��� Pr2/Pr1=P2/P1  �o�  

 

��� ������ �o cp ��v�� �
��v�
 
�v����
� �$v # ��� f, ��o��� v� 

���
��o�o����� o ��v���
 4.2. ��o��v$
 ��v�� 

Vr2=(0.9916)(0.125)=0.1239 ��� ��	� ��  �ov ��v��� 4.2 �� 

�����%o	� %��
�o��� '2=668 �. 'o ��!o �o� ����!���� ������� ��  

W1-2=U2-U1   �o� U � �
$������ �v��!���, ���  �$
 !�� ��v �v��	��� 

�
���� U=Us+Uc. �		� � Uc ��v�� 
������ 
�o�
 298 � ��� !�� ��v 1 

��� !�� ��v 2 ����
��
� ��� ��
� W1-2=Us2-Us1 o�o� Us � ��
���� 

�
$������ �v��!��� �o� ��!���o
 far ��� � o�o�� ��o��� v� 	�#��� 

��  �ov ��v��� 4.2. 2��  

      W1-2 =190.27-(-84.139)= 274.40 J/g = 65.58 cal/g. 

 

4.5 ��	����
�� �����
����� ������ ��������-��	� OTTO 

 

 � ���	o
 ��� 
 �ov��		o�o��� ����v�
  �o� � ���
� 
��%��v�� 

� 
o !��!o�� �
�� v� ��$�����  �� 	��%�v�� ���� �ov�� 
�o TDC. 

 

6 3

33

5

2

J N m 10 cm
8.314  500 K ( )( )

cmmole K J mV = = 138.2  
N g

 10
g m30.09  (10 bar)( )

mole bar

�

 

 

 exp

T

p

r r

r298

dT T 1c
= ( )        =VP

R T 298 P
	�
 ���  
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�v !�v�� ��v�� �#��� 
��o
 
� ����v�
 �� �v��
� ��� 
��v����
��� 

��� �� o�o�o!�v�
 ��!��. �� %�
���
 ����!�
��
 
� ���!������� 

P-V ��v��  �o��
 �� ����
 �$v ���!������$-v 2.1 (��#�	��o 2.1) 

��� ��v��:    

1-2 I
o�v��o���� 
�����
� ��!���o
 far,  

2-3 ����%����� �
 �$�� ���
� 

3-4 I
o�v��o���� ��� v$
� �$v ��o/ v�$v ��
 ���
�
, �� o�o�� 

��$�o�v���  �� %��
�ov��� 
� ������ �
o��o���. 

3� �#���o
�o�v o� ���o�o	o!��
 �$v ��o�!o���v$v ����!��#$v ��� 

�� ���!������� �.1, �.2 ��� �.3, �� ��
 ��
��- ��
 

����o��v�����
 ��� ����
 �$v ��o/ v�$v ���
�
 
� ������ 

�
o��o��� ��� !�� o�o�o���o�� ���
��� ���� 	 !o �� �$v H ��o
 C 

2.25. '� ���!������� ��v�� !�� ���
� �� ���� ��� !�� ����
 

�������
��
: ��$�o� ��!���o
 (�=0.8), 
�o����o������o� ��!���o
 

(�=1.0) ��� �	o�
�o� ��!���o
 (�=1.2). )��!������� !�� 

���#o������ ���
��� ��� 
�����o�
 	 !o�
 ���
��o� ���� ��o��� v� 

�v������o�v 
�o�
 Taylor (1977) ��� Newhall and Starkman (1964). 

 

���������� 3. 

 �
o	o������ ��v imep ��
 �v��
�v���v� �
��o�� �v�� ���	o� 

Otto ������o�-���� �� �� ���	o��� ���o��v� : r=10, P1=1 bar, 

T1=350°K, f=0.10, �=1.0 ��
 �
� ����
�o 
�oo���v
o C8H18. 

 4�o���o���  �� �o ���
��o ��v�� �	��$
 ������
��vo-
� ����� 

#�
�. 

��  �� 1 
�� 2 �o ��!�� ���
��o�-����-��o	o��o� (far) 


���������� �
o�v��o����. ,�$
 ��� 
�o �������!�� 2 ��v�� Vr1 

=0.6727 ��� ��  ��� %��
�o��� �� �� 	o��� : 

 Vr2=(0.6727)/10 =0.06727, T2=831°K ��� 

 W1-2=320.88-(-48.58)=369.46 J/g = 88.30 cal/g. 

* ���
� 	��%�v�� ���� ��o 
�����   !�o ��� �
$������ �v��!���, 

��	��� V3far=V22far ��� U3far=U2far. 2�� ������ ��
�� �� V2 ��� U2. ��  

�o �������!�� 1, �o �o����  %��o
 ��� � ������ �v��	��� �o� far, 

!�� ��v ����
��
� 1, ��v�� (far=30.09 g/mole ���  hc,far=-95.80 

cal/g. 2�� ��v�� 
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��� V2=V1/10 = 96.7 cm
3/g = V3. 

 (� !v$
�� ����o���
�� '2=831� ��� �����%o	� 
�ov ��v��� 4.2 

%��
�o��� U2=320.88 J/g =76.69 cal/g. &�v���
 ��v�� 

U2far=U2s,far+U2c,far � U2far=(76.69)+(-95.80)=-19.11 cal/g= U3far.   * 

����
��
� 3 %��
����� ��  �o ���!����� �.3. &� U3=-19.11cal/g 

��� V3=96.7 cm
3/g ���%��o��� '3=2790� ��� P3=85 atm ��� S3=2.068 

cal/g°K . '� ��o/ v�� � �� ���ov�vov��� �
�v��o���� 
� 

V4=10*V3=967 cm
3/g. (� ���o��v� �� V4 ��� S4=S3 ���%��o��� ��  �ov 

����� �.3 ��
 ����
 : T4=1740°K, P4=54 atm, U4=-380 cal/g.  

'o ����! ��vo ��!o ��  ��v ��� v$
� �$v ���
����$v ��v��  

W3-4=U3-U3=(-19.11)-(-380)=360.9 cal/g. To ��!o �o� ���	o� ��v�� 

W=W3-4-W1-2=(360.9)-(88.3)=272.6 cal/g =1140 J/g. &�v���
 ��v�� 

 

'�	���
 o %��� 
 �� �o
�
,  
��#$v� �� �ov !�v�� ���o o��
�  �o� 

� ���� 
��v ���� �o� ��#�	��o�, ��v��  

 

 &��v �������� �#���o!� ����vo �o� ��
 �v���#���� ����$
 


��v ��o
o�o�$
� (�ov��		o�o��
�) �o� ���	o� 	���o��!���
 ���
 

����v�
 �o� ����!��#���� ��$������ ��  �ov ������v$ 

���	o-�ov��		o, ��v�� �o �$
 ����%�		���� � �v����v���v� �� �o
� 

��� � ��
� �v��! 
 ���
� 
�v����
�� ��������$v,  �$
 o 
����� 
 

	 !o
 ���
��o�-���� (#) ��� o 	 !o
 
�����
�
 (r). ��v�� ��#�v�
 

 �� �� ������ v� ���v�	�%o��� ���
 ���	�!�
���
 �o� 

�������!���o
 3 !�� �.�. ���#o������
 ����
 �o� � ��� r. ��v�� 

	o�� v ��o��� ���o v� ���
��o�o�o��� ������
 ��o	o!�
�o� (�� 

Ferguson, 1986) !�� ��v ����%�
���� ��� %�	��
�� ������
� �$v 

���!������$v. ��v 	o�� v 
������
o��� �� ���!������� �i ��� 

imep=f(�) � f(r) !�� �v� ���
��o ���#o����� , �.�. 

 
g

cm
  967=

10*1*30.09

10*350*8.314
=V        

M

T*R*P
=V

3

5

6

1
n1

1 	�
  

 

 bar  13.1=
96.7-967

10*1140
=

V-V

W
=imep

21

 

 

 0.426=
47670*0.9*0.0665

0.0665)+1140(1
=

f)-(1F*

)F*+W(1
=

os

s

�
�

�

�
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gasoline(C7H17), �� ������
 P1=1.0 bar, T1=350°K ��� f=0.10   

	��%�vo��� �� ���!������� 
�� 
������ 4.1 ��� 4.2 (Ferguson, 

1986). 

 (�o�o��� v� 
�v�!o��� ��� 
���� ��  
������
����: 

1. * �v����v���v� �� �o
� (�i) ����v�� �� �o r, ��!�
�o�o������  

   !�� ���
� ��$�o� ��!���o
 ��� ��v�� ��������
 �v��������  

   ��
 ������
 ����o���
��
 ��� ���
�
. 

2. * �v����v���v� ��
� �v��! 
 ���
� ����v�� �� �o r,  

   ��!�
�o�o������ �� ���
� �	�#��
 �	o�
�o� ��!���o
 ���  

   ����-���� !������� �� ��v ������ ���v ����, ��	���    

   

3. "�� ���o��vo 	 !o 
�����
�
, � ��!�
�� ���
� �o� ���	o�  

   ��v�� �v�	o!� ��
 imep. 

4. * ��!�
�� ���
� 
�o�
 ���	o�
 ��!�
�o�o������ !�� ���
�  

   �	�#��
 �	o�
�o� ��!���o
. 

 '� ��o��	�
���� ���� ��v�� ���������
���� !�� �� 

����

 ���� ���
��� ���o!ov�v����$v. �
 �����
o��� ��v ������
� 

�$v ���o���$v �o� ���
��o� ��� ��� ���	�� 
� 
��
� �� �� ���
� 

�v�		������- ���
���-. � ��v���
 4.5 (Ferguson, 1986) 

���o�
����� ��o��	�
���� �o� ���������- !�� ��o ���#o�����o�
 

	 !o�
 
�����
�
 ��� ��v�� ���#o������ ���
���. 0����������  �� 

������� � vo ����� ���#o�� ������ �$v ���o!ov�v����$v. &��#$v� 

�� ���� ��v �v�	�
� �o �����	��� (diesel) �� ���v  
o ��	  ��� � 

%�-��-� (gasoline) !�� o�o�o!�vo�
 �	��$
�
 ����v� S.I. &��v 

���!����� ����  �$
, ������� �o �� %	��� ��
 ��o�
����
 ���
�
. 

'o v���o����v�o ��. ��v�� ���
��o !�� �!�v�
 �������o
 ��� ��� 

��v�� ��!�
�� imep. "�� ����

 ���� ���!������� ��� ��� 
���� 

��  
�������
 ���	�!�
���
 ��� �����	�
���� � �-�!-�
��
 

�-�#������ 
��- %�%	��!��#�� (��. Taylor (1968,1977), Ferguson 

(1986), Obert (1973), Newhall and Starkman (1964) �	�). 

 

 

 

 

 1

1

1
imep         imepP
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	�
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0�-���
 4.1 (�!�
�� �����
��� �-��!��� ���
�
 ��� 
�����! -�
 ��-��� ���# �$- ���
��$-, Ferguson (1986) 
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0I1���& 4.3 �v��	���
 
������
�o� ��� �o����� %��� ������-  

            o�
��v 

 

��
�� 

&��%o	o 

(����
��
�) 

h°f,298 

(kca/mol) 

 

MW(g/mole) 

Carbon C(s) 0 12.01 

Carbone monoxide CO(g) -26.417 28.01 

Carbon dioxide CO2(g) -94.054 44.01 

Hydrogen H2(g) 0 2.018 

Water H2O(g) -57.798 18.02 

Nitrogen N2(g) 0 28.008 

Methane CH4(g) -17.89 16.04 

Propane C3H8(g) -24.82 44.09 

Isooctane C8H18(l) -61.97 114.22 

 C8H18(g) -53.57  

Cetane C16H34(l) -108.62 226.47 

 

 

 

 

0I1���& 4.4 5����� �v��	��� ��� �o����  %��o
 �
oo���v�o� 

C8H18(g)-���� ��!���o
 (fa) ��� ��o/ v�$v �� 

�� 	o��o (r), Fs=0.0665 

#=F/Fs 0.8 1.0 1.2 

hfa(cal/g) -23.70 -29.25 -34.66 

hr(cal/g) -563.0 -695.1 -649.5 

Mfa(g/mole) 29.98 30.26 30.54 

Mr(g/mole) 28.65 28.60 27.50 
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0�-���
 4.5 ������
� ��� ����� ���
���� ��� 
�$- ���������
����- ��� ���	�� ���
����-���� 
Otto, (Ferguson, 1986) 
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Ferguson (1986) 
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Ferguson (1986) 
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Ferguson (1986) 
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Ferguson (1986) 

Ferguson (1986) 
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